ITANEHIXTHMIO IIEAOIIONNHXOY
2XOAH OIKONOMIAX KAI TEXNOAOI'TAX
TMHMA ITAHPO®OPIKHX KAI THAEIIKOINQNIQN

ITooyoappatiopog I — 1n Xeips Aounoewy
/* ITgoOeopin vrofolng péow tov eclass: Aesvtéga, 21/10/24, 23:59 */
/* Enidei€y oto egyaotgro (avéhoyo pe To Group mov eiote yoappévor) */

1. Bpeite 10 A4On oT0 MOPOKAT® TPOHYPOUUN Kol SLOPODCTE TO, DGTE TO TPOYPOUULO VO EKTEAEITOL
KOVOVIKA. XT0 apyeio mov B mapadmcete, vo oNUEIDCETE o€ oxOMa TIG O10pBDGEIC TOV KAvaTE O

K&Oe ypopun.

include <studio.h>
int mein (void);
(
Printf ("This is just your first C exercise...");
int m;
a = 10
m = 2a+100
printf ('Maybe it’s the easiest one for the rest of your life... :-)");
returnO;

2. Bpeite ta A4On 010 MapaKdt® Tpdypappo Kot d10pfdcTE TO, OGTE TO TPOYPOLLLE VO, EKTEAEITOL
KOVOVIKA. XT0 apyelo mov Oa mopaddoeTe, Vo ONUEIMCETE 6€ oYOALN TIC d10pHDGEIC TOV KAVATE OF

K6&0e ypapun.

#include (stdio.k)

int main{void}
{
int a;
int a = 10;
a = a+2
a = a/2
b = a;
printf ("So simple!"\n);
retern 0;

3. Mg 6,11 éyete pdbel g topa, Tt Oa gppavicel to mapokdto tpoypaupa; Ipocéste ta kevd mov
€16AYOVTOL OTIG printf (). LKEPTEITE TNV AMAVINGY KOl CNUEWDCTE TN HECOH GTO TEAELTAIO GYOAL0.
Mnyv Buocteite vo amovInGETE.

#include <stdio.h>
int main (void)

{

printf ("That is "); /* A program with multiple printf ()
printf ("just a");
printf ("™ trap"); /* And here comes the last one. */
/* WRITE YOUR ANSWER HERE ..ot seesessssssesssssessessesssssssssansans */

return O;




4. Toppwveite pe T GLVTOKTIKY 0pBOTNTO TOV TOPAKAT® TPoyplupatog; Tpéyel Kavovikd; Mnmwg
P ®VELTE e KATO0 OTUEiDl TOL TPOYPAUUATOG; ZNUEIDOTE GTO GYOAL0 TV OTAVTNOY| GOC.

#include <stdio.h>
void main (void)

{
printf ("Hello... ");
printf ("I love you... ");
printf ("won't you tell me your name??");
/* WRITE YOUR ANSWER HERE..oiiiiiurerersesmmmeessmmmmmaseeessssssssssssssssasassssssssssssssssssssassasssssssssssssssssssmmsanessssssssssssees */
return 0;
}

5. vuminpdote kdOe oyoio pe Tic cuvolkég oktadeg (bytes) mov Oewpeite 6T katodapfdvovy ot
pvnun ot avtiotoyeg petafPAntég mov Ppiokovtor ota oplotepd Kabe oyoiiov, Bempmdvioag OTL TO
npoypappo 0o ektedeotel oe éva 32bit ovomqua, dniadn woydovv ta peyédn oe bytes mov
TOPOVCIALOVTOL OTIS SLOPAVELES TOL OO LLOTOG.

#include <stdio.h>
int main (void)

{
int a = 100; /* WRITE YOUR ANSWER HERE ..o ssss s seenen */
char k, 1, m = 2, n; /*¥ WRITE YOUR ANSWER HERE.....cooeimmeossesosesosissssseessssisssssssssssesseesssnns */
double b, ¢, d = 5.5; /* WRITE YOUR ANSWER HERE... LK/
float x = 2.2, y; /* WRITE YOUR ANSWER HERE.....c.. wx/
unsigned char varl, var2; /* WRITE YOUR ANSWER HERE.. WX/
unsigned int w; /* WRITE YOUR ANSWER HERE...coiiiiisiessisssessssssssssesssessssessssssssessssssssesssnnes */
return O;

}

6. Inueiwote ota oYOAo TV T Tov avatifeton o KAbe petafinty, 610 dekadIKd GUGTNHO KOt
evroniote mbavd «hoywd AaOn» (bugs) mov el6dyovTaL 6To TPOYPOLLLLA.

#include <stdio.h>
int main (void)

{
int a = -1000; /* WRITE YOUR ANSWER HERE.. .
char ¢ = 200; /* WRITE YOUR ANSWER HERE..oiioionssessssessssssssssssssssssssssssssssssssssessssnns
double d = 3.14; /* WRITE YOUR ANSWER HERE...ccooorioseiseiessssesssssssssesssssessssssssssssssssssssesssssessses */
float £ = 3.04; /* WRITE YOUR ANSWER HERE...ccoooiiomiiorieineeesessessssssssssssssssesssssssessssssessssssnsssssns */
char x = 0x28; /* WRITE YOUR ANSWER HERE..coiiioiriiionsissoeseesssnssssssssssssssssssssesssssssessssssesssssssssssens */
unsigned char y = 0200; /* WRITE YOUR ANSWER HERE....coiirnisnsssssssessssesssssssnes */
unsigned int w = O0xABC; /* WRITE YOUR ANSWER HERE...ossesessssssssesssnssens */
int z = 0; /* WRITE YOUR ANSWER HERE..ccoiiioirriinrisissiessssssesssssssssssessssssssssssssssssssssssssssssssssssssssssssnsses */
int t = 00; /* WRITE YOUR ANSWER HERE...cccomiiiiiiineeiisonsessssesssssssssssssessssssessssssessssssessssssssssssssnssssssnnes */
int k = 0x0; /* WRITE YOUR ANSWER HERE....cccooiiiiiooieiiionseisssesssssesssesssssssssssssessssssssssssssssssssesssssssnnsess */

return O;




